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frfefaa Pt =) sy afen 3t 3T arem hif :

(i) 3T YT H 33 F57 & | GH 397 ST & |

(ii) Y9797 9id @US] 7 [q9faa 8 — @S %, @, T, T A& |/

(iii)) @IS FH - Fo7GET 1 T 16 7% Tgldshcd1d bR & 97 & | o4 97 1 37 BT 8 |

(iv) GUET-F7 G 17 21 % 3ld g ITIT FHR & F97 & | I F97 2 ]
HTE |

(v) GIET - Jo7 GEIT22 T 28 T T ITHIT YHR & J97 & | Jedah J97 3 b BT 3 |

(vi) TUSG - J97 G129 TIT 30 HH JTERT J97 8 | e Jo7 4 37H1 FT & |

(Vii) GUEF-J37GEIT31 T 33 T G I IR & J97 8 | Jodb J97 5 b HT & |

(viii) ¥¥997 H GHH [ 787 1697 37 & | TEY, @S & & JHlarad 3~ GUSI & F& J9+]
g S7TRF [dbcq BT TI7 1T 1T & |

(ix) &I & I GIOaTea TOeimeir & o7a 37 J9797 & |
(x)  @oTpcict BT 3T Fld & |

gug —<h

T T 1 & 16 T Tgfohed g YhRh 1 IIh H I ¢ | 16 x 1 =16

1. TafafRea 99 Fa-o efisis Yaadq &R 6 dE S L Ghdl 2 ?

(A) OH™ B) CH,O~
O-
(C) RO~ (D)
O9N
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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1)

(1)

(111)

(1)

(v)

(vt)

(vit)

This question paper contains 33 questions. All questions are
compulsory.

Question paper 1s divided into FIVE sections — Section A, B, C, D
and E.

Section A — question number 1 to 16 are multiple choice type questions.
FEach question carries 1 mark.

Section B - question number 17 to 21 are very short answer type
questions. Each question carries 2 marks.

Section C — question number 22 to 28 are short answer type questions.
FEach question carries 3 marks.

Section D — question number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - question number 31 to 33 are long answer type questions.
FEach question carries 5§ marks.

(viit) There 1s no overall choice giwven in the question paper. However, an

(1x)

(%)

internal choice has been prouvided in few questions in all the Sections except
section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculator 1s NOT allowed.

SECTION - A

Question No. 1 to 16 are Multiple Choice type Questions, carrying
1 mark each. 16 x 1 =16

1.  Which of the following species can act as the strongest base ?

(A) OH~™ (B) CGH 50 B
O~
(C) RO~ (D)
OsN
56/5/2/22 3 WAAMAAAAAAAAAAAAAAAAAAA, P.T.O.

-

e
gcollegedunlaa
India’s largest Student Review Platform



5=

=3

2. AT TR Y™ H FARIBH oh T TR0 g IcaTicd faval! 719 8
(A) ITHH (B) TS 4
(C) WI&sH (D) 31 (TeR) 7=

3.  HHIUEY fIo=El 1 81 & 99

(A) TTE

(B) 31U

(C) YUE e

(D) 3ATAdA

4. Tord OIS 1 98 [9RE s Toad WHHT 377 SI9RUd 8id &8, hadldl &
(A) TS G

(B) Tgdi=er 9=

(C) qcitareh G

(D) <=k Gl

5. FohHYT 91U JTAUhIRIT AMTh S b U YeliTd ST ST & | 3TaUehRit AMTehi & &+
H FshHUT 9TqU Bl ATl &

(A) 3AfereR 3R

(B) 3% wEe
(C) 3AlYUSH a3
(D) 3AEe grfae
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2. Auto-oxidation of chloroform in air and light produces a poisonous gas
known as
(A) Phosphine (B) Mustard gas
(C) Phosgene (D) Tear gas

3. Isotonic solutions have the same
(A) density
(B) refractive index
(C) osmotic pressure

(D) volume

4. The specific sequence 1n which amino acids are arranged 1n a protein 1s

called 1ts

(A) Primary structure
(B) Secondary structure
(C) Tertiary structure

(D) Quaternary structure

5. Transition metals are known to make interstitial compounds. Formation

of interstitial compounds makes the transition metal

(A) more hard (B) more soft
(C) more ductile (D) more metallic
56/5/2/22 5 WAAAAAAAAAAAAAAAAAAAAA, P.T.O.
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Ar—N, X~ HBr Ay Br+N,

Cu =i
(A) BIBHME SHEMES =R TR
(B) Afsieet AferHTgS HIeAwO

(C) hifeieT UHIA SAfHfsram

(D) T 3ffshan

7. fomn 9 9R wwEAfRT A, B, C 3R D ikt 3 sae: CH,CH = CH,,, CH,CH,CH = CH,,
CH,CH = CH — CH, 3R (CH,,),, C = CH,, feta 3R 37eh1 Jeiiareh sq{eT Toehlgicd H
ETAWT i T TIH ThIT | I Teh Uoehd T 3T 3N STt 3THTshat <6l |
IR TG AT | H aTiesd T ¢ dTet! @ g

(A) A (B) B
C) C (D) D

8. KCI faet¥ = foTu afue &t % I8 HHd 8T foh I8 Yoia: foifora &, &

A 1 (B) 2
(C) 0.5 (D) 1.5

9.  dIHUI Hiek ATcTehdl Ud FTetehdl QI bl THTIAd Shidl & | HI 9 aehivl o1 IUTE 3 :

(A) TIAT o F1Y Gl IATeTehdl 9] g SIdich dTeiehdl @l & |

(B) dHAT & AT HIGK ATciehdl S@d! g Siaieh dletehdl gl g |
(C) aIaTsh ALY gHITd & |

(D) <A1 % |1 GHI 96d & |
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The correct name of the given reaction 1s

AI‘—N; X HBr , Ar — Br + N,,.
Cu powder

(A) Hoffmann Bromamide degradation reaction.
(B) Gabriel Phthalimide synthesis

(C) Carbyl amine reaction

(D) Gatterman reaction

7. Visha took 4 test-tubes namely A, B, C & D containing CH,CH = CH.,,
CH,CH,CH = CH,, CH;,CH = CH — CH4 and (CH,),C = CH,, respectively

and tried to convert them into tertbutylalcohol. She carried out acid
catalysed hydration reaction on every alkene. Out of the four test-tubes,
the one which will give desired result 1s

A) A (B) B
C) C (D) D

8. Van't Hoff factor for KC/ solution assuming the complete dissociation 1s
A) 1 (B) 2
(C) 0.5 (D) 1.5

9. Dilution affects both molar conductivity as well as conductivity. Effect of

dilution on both 1s

(A) molar conductivity decreases whereas conductivity increases on

dilution.

(B) molar conductivity increases whereas conductivity decreases on

dilution.
(C) both decrease with dilution.
(D) both increase with dilution.
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10. e (JcUeh ) H =hIH H1 &t Tad ardl & ?

(A) oA T (B) weH{l Het

(C) oS 9a¥s Ud (D) I ¥

11. 91 370g311 0 9 Tohe ek | Tafad C-aaHT] Histe & ?

[ i
C, o
(I) = !""’ff;, (II) = !f{"?!;;
HSCIE Br HaC/E Cl
H Br
]I) (I)Hza
C:? /C;’ff
(I111) - CH/E %CH% (IV) H,CCH3 ‘ 1
¢A ] | D
(A) I, 11, 111 (B) 11, III, IV
(C) 1, 11, 111, IV (D) I, I1I, IV

12. aRITA + 2B —» C + D o fou srfufspan shishife 2
(A) A Yfdil

(B) B 9fd 2

(C) STIfekd &1 hi STT Hehl! aRIToh JTTTSHAT hife TARTICH &Y | (i I TS 7 |

(D) 3
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10. Which of the following cell 1s used in inverter ?

11.

12.

(A) Fuel cell

(C) Lead storage cell

(B) Mercury cell

(D) Dry cell

In which of the following molecules, C atom marked with asterisk i1s chiral ?

CH.
‘ 3
C*
(I) / g #f’:"f;f B
H,C™ = '
D
b
(III) E f;f‘?fff
CHSCH(i CH,
(A) I, 1L, III

(C) I, II, IIL IV

For the reaction A + 2B —» C

(A) 1 with respect to A

(B) 2 with respect to B

(IV) H,CCH

(B) 1II, III, IV

(D) I, III, IV

D. The order of the reaction is

(C) can’t be predicted as order 1s determined experimentally.

(D) 3

56/5/2/22

9 VWAAAAAAAAAAAAAAAAAAAAANA, P.T.O.

e
gcollegedumaa
India’s largest Student Review Platform

S—



e

Y9 T 13 H 16 o 7T, &1 eH feu 7T & — 994 U 1 AR (A) a1 g I
ST (R) 1T 3Aferd fopam T 8 | 394 U941 & ¥t St A= few mu smiEh (A), (B), (C) 31X

(D) ® | gL ITT :
(A) AHH (A) 3R R (R) THI F&1 8 3T HR0T (R), 3TTHAT (A) i Tl ST

S 2 |

(B) 3MWh¥H (A) 3R &ROT (R) GAI F&l &, 9d &Rl (R), AMHAT (A) <l Fal

ST T8l hidl & |

(C) 3THHYA (A) Fal 7, 9] R (R) TTeTd 2 |

(D) YA (A) Tl 8, 93] 10T (R) T & |

13. AR (A) : p-ATSIhHIA ohl ol H p-HUTFHhMI TaeTal 3T ¢ |
&R (R) : TTed! 948 +] THTd g1 & Saleh T8¢! T8 —] THTE I & |

14. AR (A) : S, 2 ATuferan 4 fa=rmg w1 gfaetm= Sferd grdr 2 |

&I (R) . 37TsRaT ShTETehe™A o AT o H1 3TUHR B B |

15. AT (A) : Tt S ife i AR & fow an e 3k sifufshan am 6

Sh1d] 99 gldl @ |

&R (R) : I IS o AR T, AITRAT o1 TR T Agar T R
T8l hidl g |

56/5/2/22 10 WAAAAAAAAANAAANAAAAAA,

o
gcollegedumaa
India’s largest Student Review Platform

-




e

For questions number 13 to 16, two statements are given one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct

answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not the

correct explanation of Assertion (A).
(C) Assertion (A) 1s true, but Reason (R) 1s false.

(D) Assertion (A) 1s false, but Reason (R) 1s true.

13. Assertion (A) : p-methoxyphenol 1s a stronger acid than p-nitrophenol.

Reason (R) : Methoxy group shows +1 effect whereas nitro group

shows —I effect.

14. Assertion (A) : Inversion of configuration 1s observed in S 2 reaction.

Reason (R) : The reaction proceeds with the formation of carbocation.

15. Assertion (A) : The units of rate constant of a zero order reaction and

rate of reaction are the same.

Reason (R) : In zero order reaction, the rate of reaction 1s independent

of the concentration of reactants.
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lé. AHYT (A) : Zr AR HS @leﬂmﬁwﬁ@%l

ST (R) : I8 RIS 3T o SR 2 |

TS -§
17. T=fefad ugi o1 afcanfa i 2
(a) S T SFATEH &1 fgdia Fram
(b) HEATTT

18. 0.2 mol L1 KC! foetaa & R §U Ush ATeAehdl Wl ST Ifalg 200 Q 7 | Ife 3H Tt o
gfae 0.05 mol Lt KCI forefad ¥ W 620 Q 81 a1 0.05 mol L~ KC! ferera b

FTeTehdl Ud Al ITeTehdl Jiehiddd hitad | 0.2 mol L~ KCl fae@a &l ITeiehdl

0.0248 Scm™ 1% | 9

19. CIST b UM hIfe i JTHHAT H 99% IHTHAT IO 4 | T T5F 90% T TehaT qul
B H o 9Tl gHI H AT 81 8 | (log 10 = 1) 2

20. (a) T ®U] G~ HITT :

1) FTSgiemid H UfHeH 1
(i) UHEH 9 B 1
AT
(b) (1) SEHIT UHH 3R vAHH ¥ fave s & fou garfies gderor fafigu 1
(ii) =i SEUSIHIH Felge i KI o |19 371%ehd fhU S T HiHd 3c1g
feTT | 1

21. T=fAREad IhU3Tl ol AFHBES R SEHhUSE H Aifichd hIfT :

SheFe IS, TIFeISt, ToIehll, HIcelS 2
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16. Assertion (A) : Zr and Hf are of almost similar atomic radii.

Reason (R) : This is due to Lanthanoid contraction.

SECTION - B
17. Define the following terms : 2

(a) Faraday's second law of electrolysis

(b) Corrosion

18. Resistance of a conductivity cell filled with 0.2 mol L1 KCI/ solution is
200 Q. If the resistance of the same cell when filled with 0.05 mol L.™1 KCI

solution 1s 620 Q, calculate the conductivity and molar conductivity of
0.05 mol L.~! KCI solution. The conductivity of 0.2 mol L.! KC! solution is
0.0248 S cm™1. 2

L

19. Show that in case of a first order reaction, the time taken for completion

of 99% reaction 1s twice the time required for 90% completion of the

reaction. (log 10 = 1) 2

20. (a) Carry out the following conversions :

(1) Nitrobenzene to Aniline 1
(11) Aniline to Phenol 1

OR
(b) (@) Write a chemical test to distinguish between Dimethyl amine

and Ethanamine. 1

(11) Write the product formed when benzene diazonium chloride 1s

treated with KI. 1

21. Classify the following sugars into monosaccharides and disaccharides : 2

Fructose, Lactose, Glucose, Maltose

56/5/2/22 13 WAAAAAAAAANAAANAAAAAA, P.T.O.
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22. Tr=fefRga srfufsranat & srufera g 3cre 1 =T ST - 1x3
(a) U hl WIS TTRm SIS o H1 TR dgu-d SeraTdee |

(b) T TeHIeh 3T hi JUTEATd H - 1-57 1 oo |
(¢) HHFTA S SHH ST o H1 3THThAT |

23.  C,H,N 3T{vereh I a1et fehdfl FMfires X 1 C . H, SO, Cl = |1 JAH{shAT hich Teh &R H

tfaerd 3 fear | X &l uga™ hIfT 3R 3c91E 1 3113 J 4t Tl 9 i | 99
s "%I%QI 3

24. 9 H 300 K& 320 K @ gfg s 92 fereft atfufera 61 o feures = 171 31 a1 & |
39 ATfsRaT o foTu Tfshamt et &t oM i | 3
[log 2 =0.30, log 4 =0.60, 2.303 R =19.15 J Klmol 1]

25. THHRG ITEHEHAISH AMTehi o 3Tg J 9T THT 9 fTRaT (h1g dHF) -
(a) K [Fe(CN)4]

(b) [Pt(en),Cl,]**
(¢) [Co(NH,),CI(ONO)]CI

(d) [Zn(OH) 4]2_ 1x3
26. TR Tceh HATUTHAT o T 3cATGI ohl ELEHT SHTST : 1x3
O

[Ag(NHj3)o]* OH™
(a) >

CHO
(b) CHg\\c -c” ~ee NaOI
H/ \\ﬁ o CHS ’
0
CHO  Naon/HC
(c) >
COOH
56/5/2/22 14 WAAMAAAAAAAAAAAAAAAAAAA,
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SECTION - C

22. Give the structure of the major product expected from the following

reactions : 1x3

(a) Reaction of Ethanal with methyl-magnesium bromide followed by
hydrolysis.

(b) Hydration of But-1-ene in the presence of dilute sulphuric acid.

(c) Reaction of phenol with bromine water.

23. A compound ‘X’ with molecular formula C;HgN reacts with C,;H.SO,Cl/ to
give a solid, insoluble 1n alkali. Identify ‘X’ and give the IUPAC name of

the product. Write the reaction involved. 3

24. The rate constant of a reaction quadruples when the temperature changes

from 300 K to 320 K. Calculate the activation energy for this reaction.
[log 2 =0.30, log 4 =0.60, 2.303 R =19.15 J K~lmol™}] 3

25. Write IUPAC names of the following coordination compounds : (any three)
(a) Kj[Fe(CN)g]
(b) [Pt(en),Cl,] o
(¢) [Co(NH,),CI(ONO)]CI

(d) [Zn(OH) 4]2‘ 1x3
26. Draw the structures of major product(s) in each of the following reactions :
1x3
O
[Ag(NH3)o|" OH™
(a) >
CHO
H, H
(b) ) C= C/C 3 NaOl
H” \(ﬁ ~CH, ’
O
@CHO NaCN/HC!
(c) >
COOH
56/5/2/22 15 WAAAMAAAAAAAAAAAAAAAAA, P.T.O.

L ]
gcollegedumaa
India’s largest Student Review Platform

S—



27. fo=fafigd 39 & emf &1 Tieneq Hifsw 3

Ni(s) + 2Ag7(0.01 M) —— Ni%" (0.1 M) + 2Ag(s)
IFRIRIE I Ei =1.05V,log10=1

28. Ta=ferfiga & foru sprer €ifre 1x3
(a) &R, NaCN & H1Y TMThAT ohich HRATES AR JEEEREATES ¢Hl HiHd
i B |

(b) BANUHH AT & Arfrentrft ufaeemas srfsfsrar 78 i |

™

(c) Sf=Tct FeTIEE Sy 1 HIWThaT hidl 2 |

Qg - ¥
fAfeTRad I9a ha- 3T 994 8 | h8 1 SIHYEe UieU 3TR e MU 991 o 3T €T |

29. UHI ¢E@1 71 & Tob BHR WIS T S hisil-eh ATeh] <h! TEIhdT G&H T H Bl 8 9]
3Teh! ST o HRUT TRy T B ST & | S A6k ol foeTfie shad 7 | 3rterepren foerfae
T GIIYUT TAR IR GRT &1 TohaT ST Fehl cifeh Ulg TTaT Tt Tt ah1 H9eivor o
gehd 8, 37d: S8 3ATa9dh TR ek AFT AT & | I STERA! o dad 1T AR feTu
I H& TGIHAT 1 Icq~ L Fohd & | HHRIA: BN TR H G4 T92Tiiq 3uetey
&d 8 |W(Vitamme)am@—ﬁw(Vital)+Q'Eﬁ7[(amine)ﬁggqv{a:ﬂ%, Fqfch
YRF H U T ATkl § UHHAT 98 o7 | STl a1 o491 § foerar & 3R W) e
<l Gl gl H Sffepd Tohal 7T & — @1 fofeid TareTiHa a1 et | faer faerfid |

ffeRaga T91 o 3T ST

(a) Torerfed B, =T ga A #4128 2 1

(b) 38 ToIBA 1 A8 SdTST F&ehl HHl H T o YRR T h FRIH GBI A a | 1

(¢) Tosiaufen=n fore feerfya <6 i @ 81 Sar 2 ° 39 f9erfiq < 21 |ia fafgu | 2

CLE]]

(¢) BHR IR H faerfm C =1 afua =11 981 fopam 51 "ehar 3 7 3@ faerfa i +H |

HEEIGRUEIRIEERIEE 9
56/5/2/22 16 WAAMAAAAAAAAAAANAAAAAN,
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27. Calculate the emf of the following cell : 3

Ni(s) + 2Ag™(0.01 M) — Ni?t (0.1 M) + 2Ag(s)
Given that K23 =1.05V, log 10 =1

28. Account for the following : 1x3
(a) Haloalkanes react with NaCN to form both cyanides and 1socyanides.
(b) Haloarenes do not undergo nucleophilic substitution reaction easily.

(c) Benzyl chloride gives Sy1 reaction.

SECTION - D

The following questions are case-based questions. Read the case carefully
and answer the questions that follow :

29. Certain organic compounds are required in small amounts in our diet but
their deficiency causes specific disease. These compounds are called
vitamins. Most of the vitamins cannot be synthesized in our body but
plants can synthesize almost all of them. So they are considered as
essential food factors. However, the bacteria of the gut can produce some
of the vitamins required by us. All the vitamins are generally available 1n

e

our diet. The term ‘vitamin’ was coined from the words vital + amine,
since the earlier i1dentified compounds had amino group. Vitamins are
classified into two groups depending upon their solubility in water or fat
namely-fat soluble vitamins and water soluble vitamins.

Answer the following questions :

(a) What 1s the other name of vitamin B, ? 1

(b) Name the vitamin whose deficiency causes increased blood clotting time. 1

(c) Xerophthalmia i1s caused by the deficiency of which vitamin ? Give

two sources of this vitamin. 2
OR
(¢) Why can’t vitamin C be stored in our body ? Name the disease caused
by the deficiency of this vitamin. 2
56/5/2/22 17 WAAAAAAAAANAAAAAAAAAA, P.T.O.
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30. Uk Hepe U el ] & 9 @it ferTuSt B Afe I A % e el |t g
foTarm ST A1 gl TRHTI] 9T SUFRIA ST i ITeh! SATHHIh T Had & | 36 ThR
bl YL 1A 38eh T2eh YHT UL 37T o AT b ST BIAl &, AT hg ¥ 9T 3T UT
3TAST 3R 39ehT & T ToT U] o 3ATeIST o AT o SIS &1 & | 39 9T 39T, I ool

oh 3TTAS1 T AN I Bl Al Fbed bl IGEH had & | a1y, g AT R
Gt oh foTU, Tehl o AT 1 I THGT HSel I AT o ST BT 2 |

YU FA1 IR ITRa Fefetfiad geei @ 3w i -

(a) I9ACH! foTTTUg i Ueh 3TN ¢ B THATIV ShITWTT | 1
(b) [Co(NH,).CI]SO, 3R [Co(NH,),SO,]CI % g fh& T 1 HHTGIET G313
T3E ? 1
(c) hicic TUTE oI TRTVT I | T Fhel ob LATRIcd bl e THTIIT hidl & ? 2
AT

() Na,y[Cr(C,0,),] H shiHFH 61 ITegHISH T&A1 Td Ul e Fd
ShITTT | 2

qTlg - g

31. (a) U e Al (A) &R A CoH, O 2 2, 4-DNP == sHIT 2,
it faetaa sl 3Tafa Stdr & 97 ShiAs 3TiTshan <1 8 | Ioa ST et T
98 1, 2-Ssi S Eh IR eAeh 3771 SHTdT ¢ |

(1) AR (A) sl IgATHT TR 38hT [UPAC 9™ TeRgu |
(i) TR (A) St 3ARfRa fafgu .

(1) 2, 4-SEATEEhHAaESS | o 91 3T

(2) AT Taetad 6 91Y

(iii) TR (A) T GHIHWT TIRGT T IE hi-TR ATMThIT <d1 B | 2+2+1
AT
56/5/2/22 18 WAAAMAAAAAAAAAAAAAAAAA,

e
gcollegedunlaa
India’s largest Student Review Platform

-



30. The oxidation number of the central atom in a complex 1s defined as the
charge 1t would carry if all the ligands are removed along with the
electron pairs that are shared with the central atom. Similarly the charge
on the complex 1s the sum of the charges of the constituent parts 1.e. the
sum of the charges on the central metal 1on and i1ts surrounding ligands.
Based on this, the complex 1s called neutral if the sum of the charges of
the constituents 1s equal to zero. However, for an anion or cationic
complex, the sum of the charges of the constituents 1s equal to the charge
on the coordination sphere.

Based on the above information, answer the following questions :

(a) Define ambidentate ligand with an example. 1

(b) What type of i1somerism 1is shown by [Co(NH,).CI/]SO, and
[Co(NH,)-S0,]Cl ? 1

(c) Define Chelate effect. How 1t affects the stability of complex ? 2

OR

(¢) Find the coordination number and oxidation state of chromium in

Nag[Cr(C,0 4] 2
SECTION - E

31. (a) An organic compound (A) with the molecular formula C4H,,0O forms

2, 4-DNP derivative, reduces Fehling solution and undergoes
Cannizzaro reaction. On vigorous oxidation, i1t gives 1, 2-benzene
dicarboxylic acid.

(1) Identity the compound (A) and write 1ts IUPAC name.
(11) Write the reaction of compound (A) with

(1) 2, 4-Dinitrophenyl hydrazine and

(2) Fehling solution

(111) Write the equation of compound (A) when 1t undergoes
Cannizzaro reaction. 2+2+1

OR
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b) () T=Afafga s o . 1x 2
(1) Ufcearssl TR HIEHI o o85SI ol FHTE FAFAT BIAT 3 |

[ A .

(2) <higHT i 3TUETT UfceaTsel ol 3TTRAehTuT 3T H &1 S1dT & |

(ii) T=fcRga =1 =afed Fifo 1 x 2

(1) YUAd, UHRH 3TR S=5l{cealss ohi 39ch! AR AT ST T3
o Tfd ged! AT Tshamierdar | |

(2) YA, T TR SBHIME AR, TUFT ohi 3ch daY-Teh! o §¢d 5hH ¥ |
(iii) d=sIIgeh 3T+ Ud S~aifeearse H fave oid o o ata e gdemr e | 1

32. Tr=fafga 79 fordi afe a9 & I Sifvu 1x5

(a) Ce(III) A= & Ce(IV) | TerElehd 1 SITdT & | TCTHUT <HITT |

(b) E°(Mn2*/Mn) —1.18 V 2 | Y% d-sclieh el shl el H I8 U 3T
SRUTTcHS 1 2 ?

(¢) 3d — 2uft o fohd T 1 UM TeUT =HAH & 3T R~ ?

(d) HifsTH shIHE I 3TAlehd T T AT BT & ?

(e) Zn, Cd 3R Hg %M 91U &, HT 2

() YETHE AT HCI ht 3afeta 4 o1 &l TohdT STam & 7

(g) EhUUl dwdl (4Td3Tl) & = 3T9EES R Bld g Sdich 3o HAGHISS
IYIYHT / 3771 Bd & | ShIUT ST |
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(b) (1) Account for the following : 1 x 2

(1) The alpha (o)-hydrogens of aldehydes and ketones are

acidic in nature.

(2) Oxidation of aldehydes 1s easier than ketones.

(11) Arrange the following in : 1 x 2

(1) Decreasing reactivity towards nucleophilic addition

reaction propanal, acetone, benzaldehyde.
(2) Increasing order of boiling point :
Propane, Ethanol, Dimethylether, Propanal

(111) Give simple chemical test to distinguish between Benzoic acid

and Benzaldehyde. 1

32. Attempt any five of the following : 1x5

(a) Ce(lll) 1s easily oxidised to Ce(1V). Comment.

(b) E°Mn?*/Mn) is —1.18 V. Why is this value highly negative in

comparison to neighbouring d block elements ?

(c) Which element of 3d series has lowest enthalpy of atomisation and

why ?
(d) What happens when sodium chromate 1s acidified ?

(e) Zn, Cd and Hg are soft metals. Why ?

(f) Why 1s permanganate titration not carried out in the presence of

HCI?

(g) The lower oxides of transition metals are basic whereas the highest

are amphoteric/acidic. Give reason.
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33. (a)
(b)
56/5/2/22

(1)

(1)

(1)

(11)

3T o WHTfId 9189 o USUeX H 1.0 ke I WU 8 | 3979 399 foha= om®
2

T TSl (e g = 62 g mol™1) TN dTfeh Taeta o1 [@HTH

—2.8 °C BT | ST < few K, 1.86 K kg - mol 1 3 | 3

WA — TEHIEH 001 g U3ee 9w © forg Yo <1 foe T e9riam ST 2 |
Wé'i%‘lQ | 2

CPE)

750 mm Hg €@ T I &1 F984 99.68 °C 3 | 500 g ST ¥ ferd

ThE (e 399 = 342 g mol 1) THARIT ST d1feh I8 100 °C 9 F=2H

& | (I o foTT K, =0.52 K kg mol™)

&0 T a18U TR 39T 13 Ush 79N [RaT | 3+ 2
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33. (a) (1) Ishan’s automobile radiator 1s filled with 1.0 kg of water. How

many grams of ethylene glycol (Molar mass = 62 g mol~!) must

Ishan add to get the freezing point of the solution lowered to —

2.8 °C. K, for water 1s 1.86 K kg - mol~1. 3

(11) What type of deviation from Raoult’s law 1s shown by ethanol

and acetone mixture ? Give reason. 2
OR

(b) (1) Boiling point of water at 750 mm Hg pressure 1s 99.68 °C. How

much sucrose (Molar mass = 342 g mol™!) is to be added to 500 ¢

of water such that it boils at 100 °C ? (K, for water = 0.52 K kg
mol™1).

(11) State Henry’'s law and write 1ts any one application. 3+ 2
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